=

do/dn (pp - b + X - mu + X') [nb/GeV]

Ratio to CMS

7000 GeV pp bb
000 [ | | | ]
o Charged Particlen Distribution(pTu > 6 GeV) _
| m CMS |
| --0-- Herwig++ 2.7.1 default B
800 — .. 5. Herwig 7.2.0 default ]
600 — —
o A _
- & I SRR S U 7
400 — © © -
L ] - n —
- | - ]
0= g B---mm SRRRRREES S E a-. m
- -]
200 — —
N | P AP NP R | P A NP NP | P RPN RN R N | e |
e e T L L
2 E =
- 6. O S
L e O _]
_ ° - S . -
1h -
L E--oeeeees Bd-- ezt EF-coeoooo - e t _
0.5 ]
R I T SR TR L L L |-
-2 -1 0 1 2

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


